
1. �'& ИКО��Л�К! �Dо7D4<<4 ANTI-AGE & DEPIGMENT NUTRITHERAPY 

�B@C?9>EA4S B@B?4:<64RM4S CDB7D4@@4 CD<6B8<F > CB6OL9A<R E>BDBEF< >?9FBKAB7B 
89?9A<S, G?GKL9A<R >?9FBKAB7B 8OI4A<S, ECBEB5ABEF< >?9FB> > E4@B6BEEF4AB6?9A<R, 
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 е7улOD=ое пD8<е=е=8е 4=т8окE8д4=т=OE 8 7еDопDотектоD=OE EDедEт6 пD86од8т к 
74<едле=8N пDоFеEEо6 еEтеEт6е==о7о Eт4Dе=8O 5л47од4DO EпоEо5=оEт8 74I8I4тP 8 
EоED4=OтP клетоG=Oе <е<5D4=O, Eт8<ул8Dо64тP <8кDоF8DкулOF8N, 6оEEт4=46л864тP 
о5<е==Oе пDоFеEEO, улуGH4тP текEтуDу ко68 8 еU F6ет, 6O6од8тP токE8=O 87 
оD74=87<4(детокE8к4F8O), 6оEпол=OтP =едоEт4ток поле7=OE 6еIеEт6 6 оD74=87<е. 

 

Оп8E4=8е 

 ЭкEтD4кт кD4E=о7о 68=4 (2 Hт) 
 КоDд4�8т (1 Hт) 
 АлекEо�8т (1 Hт) 
 �оD<4Dе= 68H=O (10 Hт) 

Х4D4ктеD8Eт8к8 

АDт8кул P.70.3 

&8п ко68: Ко64 E 6о7D4Eт=O<8 87<е=е=8O<8 / Ко6е9 E п87<е=т4F8е9 

�о7D4Eт: 35+ / 45+ 

&8п уEод4: А=т86о7D4Eт=о9 уEод, л8Dт8=7 / �DоD8л4кт8к4 8 коDDекF8O п87<е=т4F88 / 
'Eод 74 ко6е9 тел4.�о7D4Eт=Oе 87<е=е=8O / �8пеDп87<е=т4F8O 

 

И=7Dед8е=ты 

ЭкEтD4кт кD4E=о7о 68=4- 8EтоG=8к D8тоQEтDо7е=о6, 4=т8окE8д4=то6, 
к4п8ллODопDотектоDо6 длO улуGHе=8O E8=те74 колл47е=4, Qл4Eт8=4 8 784луDо=о6о9 
к8EлотO, улуGHе=8O <8кDоF8DкулOF88 8 о5=о6ле=8O ко68. 

КоDд4В8т -8EтоG=8к 58оDл46о=о8до6, пол8=е=4EOIе==OE 68D=OE к8Eлот, 68т4<8=о6 (А, 
D, �, К, F), 68т4<8=о6 7DуппO   длO Eт8<улOF88 E8=те74 784луDо=о6о9 к8EлотO, колл47е=4 
8 Qл4Eт8=4. 

АлекEоВ8т- оD74=8GеEк89 4<8=ок8Eлот=о-68т4<8=о-<8=еD4лP=O9 ко<плекE - 
«EтDо8телP=O9 <4теD84л» длO о5=о6ле=8O ко68. 

НоD<4Dе=- 68т4<8=878Dо64==O9 8EтоG=8к 4=т8окE8д4=то6 8 4=т878покE4=то6 длO 
улуGHе=8O <8кDоF8DкулOF88 8 о5=о6ле=8O ко68 

ПD8<е=е=8е 

�D4G8 Dеко<е=дуNт 8EполP7о64тP =утD8коE<ет8GеEк8е ко<плекEO куDE4<8 по 2-3 <еEOF4 
2-3 D474 6 7од. ЛNд8, =4EодOI8еEO под =45лNде=8е< 6D4G4, 5еDе<е==Oе 8л8 коD<OI8е 
7DудPN 6е=I8=O, дол6=O о5D4т8тPEO 74 ко=EулPт4F8е9 к 6D4Gу, пDе6де Gе< пD8=8<4тP 
пDеп4D4тO. �утD8коE<ет8GеEк8е EDедEт64, к4к 8 дDу78е 68т4<8==Oе ко<плекEO, =4до 
пD8=8<4тP 6о 6Dе<O едO 8л8 ED47у поEле =еU (пD8 отEутEт688 оEо5OE ук474=89 6D4G4). 
 

КуDE 1 <еEяF 



ЭкEтD4кт кD4E=о7о 68=4  по 1 к4пEуле 2 D474 6 де=P 

КоDд4�8т по 1 к4пEуле 2 D474 6 де=P 

АлекEо�8т по 1 к4пEуле 2 D474 6 де=P 

�оD<4Dе=- по 1 G.л. 5е7 7оDк8, D476еде==о9 6 1 Eт.6одO, 2 D474 6 де=P 

От7ы6ы 

2. �'& ИКО��Л�К! �Dо7D4<<4 DEPIGMENT NUTRITHERAPY 

�R5B= ?9K95AO=, D945<?<F4J<BAAO= <?< CDBH<?4>F<K9E><= >GDE J9?9EBB5D4;AB 
A4K<A4FP E BK<M9A<S BD74A<;@4, QFB F4>:9 A9B5IB8<@B ?R5B@G «CD4>F<K9E>< ;8BDB6B@G» 
K9?B69>G.  В4:AB BE6B5B8<FP BD74A<;@ BF A4>BC<6L<IES 6B8BD4EF6BD<@OI, 
:<DBD4EF6BD<@OI < A9D4EF6BD<@OI QA8B- < Q>;BFB>E<AB6.  45от4 ко<по=е=то6 
=утD8ко<плекEо6 =4пD46ле=4 =4 74I8ту ко68 от 6о7де9Eт68O E6о5од=OE D4д8к4ло6, 
поддеD64=8O Dу=кF89 пеGе=8, о5Iе7о укDепле=8O оD74=87<4. ПD9C4D4FO 84AAB7B 
78пеDп87<е=т4F89 D47л8G=о7о пDо8EEо6де=8O 8 лок4л874F88, 4=т8-4к=е 8 детокE-
пDо7D4<<4E.  

 

Оп8E4=8е 

 КоDд4�8т (1 Hт) 
 АлекEо68т (1 Hт) 
 �оD<4Dе= 68H=O (10 Hт) 

 

Х4D4ктеD8Eт8к8 

Т8п ко68: Ко64 E п87<е=т4F8е9 

Во7D4Eт: 25+ / 35+ / 45+ / ЛN5о9 6о7D4Eт 
Т8п уEод4: �DоD8л4кт8к4 8 коDDекF8O п87<е=т4F88 /  е458л8т4F8O 8 поEтп8л8=7о6O9 
уEод 

СоEтоя=8е 8 пDо5ле<ы ко68: �8пеDп87<е=т4F8O / !тDеEE8Dо64==4O ко64 

 

И=7Dед8е=ты 

КоDд4В8т -8EтоG=8к 58оDл46о=о8до6, пол8=е=4EOIе==OE 68D=OE к8Eлот, 68т4<8=о6 (А, 
D, �, К, F), 68т4<8=о6 7DуппO   длO Eт8<улOF88 E8=те74 784луDо=о6о9 к8EлотO, колл47е=4 
8 Qл4Eт8=4. 

АлекEоВ8т- оD74=8GеEк89 4<8=ок8Eлот=о-68т4<8=о-<8=еD4лP=O9 ко<плекE - 
«EтDо8телP=O9 <4теD84л» длO о5=о6ле=8O ко68. 

НоD<4Dе=- 68т4<8=878Dо64==O9 8EтоG=8к 4=т8окE8д4=то6 8 4=т878покE4=то6 длO 
улуGHе=8O <8кDоF8DкулOF88 8 о5=о6ле=8O ко68 

ПD8<е=е=8е 



�D4G8 Dеко<е=дуNт 8EполP7о64тP =утD8коE<ет8GеEк8е ко<плекEO куDE4<8 по 2-3 <еEOF4 
2-3 D474 6 7од. ЛNд8, =4EодOI8еEO под =45лNде=8е< 6D4G4, 5еDе<е==Oе 8л8 коD<OI8е 
7DудPN 6е=I8=O, дол6=O о5D4т8тPEO 74 ко=EулPт4F8е9 к 6D4Gу, пDе6де Gе< пD8=8<4тP 
пDеп4D4тO. �утD8коE<ет8GеEк8е EDедEт64, к4к 8 дDу78е 68т4<8==Oе ко<плекEO, =4до 
пD8=8<4тP 6о 6Dе<O едO 8л8 ED47у поEле =еU (пD8 отEутEт688 оEо5OE ук474=89 6D4G4). 
КуDE 1 <еEяF 

КоDд4�8т по 1 к4пEуле 2 D474 6 де=P 

АлекEо�8т по 1 к4пEуле 2 D474 6 де=P 

�оD<4Dе=- по 1 G.л. 5е7 7оDк8, D476еде==о9 6 1 Eт.6одO, 2 D474 6 де=P 

От7ы6ы 

3. �'& ИКО��Л�К! �Dо7D4<<4 ANTI-AGE NUTRITHERAPY 
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Оп8E4=8е: 

 ЭкEтD4кт кD4E=о7о 68=4 (2 Hт) 
 АлекEо�8т (1 Hт) 
 �оD<4Dе= 68H=O (10 Hт) 

Х4D4ктеD8Eт8к8: 
&8п ко68: Ко64 E 6о7D4Eт=O<8 87<е=е=8O<8 

�о7D4Eт: 35+ / 45+ 

&8п уEод4: А=т86о7D4Eт=о9 уEод, л8Dт8=7 / 'Eод 74 ко6е9 тел4 

 

И=7Dед8е=ты 

ЭкEтD4кт кD4E=о7о 68=4- 8EтоG=8к D8тоQEтDо7е=о6, 4=т8окE8д4=то6, 
к4п8ллODопDотектоDо6 длO улуGHе=8O E8=те74 колл47е=4, Qл4Eт8=4 8 784луDо=о6о9 
к8EлотO, улуGHе=8O <8кDоF8DкулOF88 8 о5=о6ле=8O ко68. 

АлекEоВ8т- оD74=8GеEк89 4<8=ок8Eлот=о-68т4<8=о-<8=еD4лP=O9 ко<плекE - 
«EтDо8телP=O9 <4теD84л» длO о5=о6ле=8O ко68. 

НоD<4Dе=- 68т4<8=878Dо64==O9 8EтоG=8к 4=т8окE8д4=то6 8 4=т878покE4=то6 длO 
улуGHе=8O <8кDоF8DкулOF88 8 о5=о6ле=8O ко68 

ПD8<е=е=8е: 

�D4G8 Dеко<е=дуNт 8EполP7о64тP =утD8коE<ет8GеEк8е ко<плекEO куDE4<8 по 2-3 <еEOF4 
2-3 D474 6 7од. ЛNд8, =4EодOI8еEO под =45лNде=8е< 6D4G4, 5еDе<е==Oе 8л8 коD<OI8е 
7DудPN 6е=I8=O, дол6=O о5D4т8тPEO 74 ко=EулPт4F8е9 к 6D4Gу, пDе6де Gе< пD8=8<4тP 



пDеп4D4тO. �утD8коE<ет8GеEк8е EDедEт64, к4к 8 дDу78е 68т4<8==Oе ко<плекEO, =4до 
пD8=8<4тP 6о 6Dе<O едO 8л8 ED47у поEле =еU (пD8 отEутEт688 оEо5OE ук474=89 6D4G4). 
КуDE 1 <еEяF 

ЭкEтD4кт кD4E=о7о 68=4 по 1 к4пE.2 D474 6 де=P 

АлекEо�8т по 1 к4пEуле 2 D474 6 де=P 

�оD<4Dе=- по 1 G.л. 5е7 7оDк8, D476еде==о9 6 1 Eт.6одO, 2 D474 6 де=P 

От7ы6ы 

4. �'& ИКО��Л�К! �Dо7D4<<4 ANGIO NUTRITHERAPY 

�4C<??SDBCDBF9>FBDAB9 < CDBF<6BBF9KAB9 89=EF6<9 CD9C4D4FB6 A4CD46?9AB A4 74I8ту 8 
укDепле=8е EоEудо6, по6OHе=8е уEто9G86оEт8 к 'Ф-87луGе=8N, пеDеп4д4< те<пеD4туD, 
дDе=46=O9 QDDект, =оD<4л874F8N л8<Dоток4, по6OHе=8е о5I8E 4д4пт4F8о==OE 
6о7<о6=оEте9 оD74=87<4, улуGHе=8е о5Iе7о 8 <еEт=о7о о5<е=4 6еIеEт6.  е7улPт4т – 
поддеD64=8е 7доDо6PO 8 улуGHе=8е к4GеEт64 ко68, 5л47од4DO E8=те7у колл47е=4. 
�DоD8л4кт8к4 8 коDDекF8O EоEуд8EтOE 87<е=е=89 ко68 - купеDо7, теле4=78оQкт4788 
(EоEуд8EтOе 76е7доGк8) 8 т.д. !=Oт8O отеко6, у<е=PHе=8O тDоD8GеEк8E 87<е=е=89 ко68. 
Описание: 

 �е9=то=, 60 к4пE. (1 Hт) 
 ЭкEтD4кт кD4E=о7о 68=4 (2 Hт) 
 �оD<4Dе= 68H=O (10 Hт) 

Х4D4ктеD8Eт8к8: 

&8п ко68: Чу6Eт68телP=4O, 6 то< G8Eле E купеDо7о< / Ко64 E 6о7D4Eт=O<8 87<е=е=8O<8 

�о7D4Eт 25+ / 35+ / 45+ / ЛN5о9 6о7D4Eт 

&8п уEод4: А=т86о7D4Eт=о9 уEод, л8Dт8=7 / SPA, DETOX, E8O=8е / �лO Gу6Eт68телP=о9 ко68 

!оEтоO=8е 8 пDо5ле<O ко68: КупеDо7 / ОтеG=оEтP 6окDу7 7л47 / !=86е=8е то=уE4 / !уEоEтP 

И=7Dед8е=ты 

Ве9=то=-8EтоG=8к 4=т8окE8д4=то6, <оI=OE к4п8ллODопDотектоDо6 длO улуGHе=8O 
<8кDоF8DкулOF88, дDе=46=о7о де9Eт68O 8 о5=о6ле=8O ко68 

ЭкEтD4кт кD4E=о7о 68=4- 8EтоG=8к D8тоQEтDо7е=о6, 4=т8окE8д4=то6, 
к4п8ллODопDотектоDо6 длO улуGHе=8O E8=те74 колл47е=4, Qл4Eт8=4 8 784луDо=о6о9 
к8EлотO, улуGHе=8O <8кDоF8DкулOF88 8 о5=о6ле=8O ко68. 

НоD<4Dе=- 68т4<8=878Dо64==O9 8EтоG=8к 4=т8окE8д4=то6 8 4=т878покE4=то6 длO 
улуGHе=8O <8кDоF8DкулOF88 8 о5=о6ле=8O ко68 

ПD8<е=е=8е 

�D4G8 Dеко<е=дуNт 8EполP7о64тP =утD8коE<ет8GеEк8е ко<плекEO куDE4<8 по 2-3 <еEOF4 
2-3 D474 6 7од. ЛNд8, =4EодOI8еEO под =45лNде=8е< 6D4G4, 5еDе<е==Oе 8л8 коD<OI8е 
7DудPN 6е=I8=O, дол6=O о5D4т8тPEO 74 ко=EулPт4F8е9 к 6D4Gу, пDе6де Gе< пD8=8<4тP 



пDеп4D4тO. �утD8коE<ет8GеEк8е EDедEт64, к4к 8 дDу78е 68т4<8==Oе ко<плекEO, =4до 
пD8=8<4тP 6о 6Dе<O едO 8л8 ED47у поEле =еU (пD8 отEутEт688 оEо5OE ук474=89 6D4G4). 
КуDE 1 <еEяF 

Ве9то= по 1 т45летке 2 D474 6 де=P. Л8F4< Eт4DHе 50 лет по 1\2 т45летк8 6 де=P. 

ЭкEтD4кт кD4E=о7о 68=4 по 1 к4пEуле 2 D474 6 де=P 

НоD<4Dе= по 1 G. л. 5е7 7оDк8, D476еде==о9 6 1 Eт. 6одO 2 D474 6 де=P 

От7ы6ы 

 

 

 

 


